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#(t) = Az(t) + Bu(t),
y(t) = Cz(t) + Du(t)
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[ MATLAB;EE ]
[513.4]

ex3_4.mdl
ex3 4 parameter.m

A1=[01;-10-11];
A2=101;-10-2];
A3=101;-100];

B=[0;1];
C=[10];
D=0;
x0=1[1;0];
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[ Scilab/&EE ]
& scope & - o x [513.4])
FIEN S AR (w0 ATk ex3_4.zcos
qu=11 @- - Fd ex3_4_parameter.sce
Al1=[01;-10-11];
A2=[01;-10-2];
A3=[01;-100];
B=1[0;1];
C=[10];
FE AL D=0; -
< x0=1[1;0];
HEN D0
1 =0 ‘
YU =2 [TA10000
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[ MATLABEE ] [ Scilab/&EE ]
@ U57497 HMYFIES 20005 R 3.4.1 DR clear N
e R e N s=poly(0,'s");
I71IUF) -1 WE(E) ZOMHD) nqu]] — s+
= HE S AVERLN numQl12 =1;
p=11 numQ21 =-10;
numQ22 =s;
1 ~ denQ1 =s+10;
/" ,/ denQ2 =s+1;
o i f k11_1 = residu(numQ11,denQ1,denQ2)
\‘ \ | k11_2 =residu(numQ11,denQ2,denQ1)
HEI A AHEELY =i k12_1 = residu(numQ12,denQ1,denQ2)
pn=2 I k12_2 = residu(numQ12,denQ2,denQ1)
/ / k21_1 = residu(numQ21,denQ1,denQ2)
/ k21_2 = residu(numQ21,denQ2,denQ1)
r Y : : T ! T H i T i k22 1 = residu(numQ22,denQ1,denQ2)
1 =0 k22 2 = residu(numQ22,denQ2,denQ1)
KI=[kIl_1kI2 1;k21 1k22 1]
K2 =[kl1_2kI12 2; k21 2k22 2]
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